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State Forest Service Examination - 2014
(Provisional Model Answer Key)

Environmental Science

Q1 : Pedology is the study of:
RETeTol AT -

Soil

ki

Rocks

TETAT T

Locomotion of animals

Sirat & garele &l

Crop disease

b Bl & 9N T

Answer Key: A

Q2 : Prey-predator relationship was given by:

FIRR-TARRY & ALY GFaetr A1 foram arar

Gause G.F

M3 S, Th

Lotka and voltera

olIcahT U9 e

Holling C.S

gifcier @r.ua.

Kitching J.A

P ——

Answer Key: B

Q3 : Which of the following layer of atmosphere has maximum density:




o1 & @ et A IR Tefed 1 TS A argHS HT T 31 TR 82

Stratosphere

eNgHS T

Troposphere

HAJTTHUS T

Mesosphere

HEIHUSof

Thermosphere

D
dqHTS T

Answer Key: B

Q4 : Center for environment education (CEE) is situated at :

Yo B FARIRAT TJheleT (H.S.8N) e g :

Bhopal

rarer

New Delhi

S feweh

Ahmedabad

AT

Baroda

i

Answer Key: C

Q5 : The famous “Chipko Movement” is associated with:

gfaee "RIge! eeleeT” & Gad g :

Salim Ali

HellH 37ell

Indira Gandhi

i anelr

S. L. Bahuguna

TH. T, SO

D | Jawaharlal Nehru




SATEATe Ag®

Answer Key: C

Q6 : Bergman’s rule is related to:

e e wefaa §

Law of minimum

Tl &1 for s

Temperature and colouration

GIEGIGREGET

Temperature and morphology

dT9HTT U 18 GXTeT

D

Law of Tolerance

Tgfeldr &1 s

Answer Key: C

Q7 : Approximate percentage of freshwater on the earth is:

G TR QEG STol T T AT TTAAT -

2%

2%

70%

70%

3%

3%

D

8%

8%

Answer Key: C

Q8 : Which of the following instrument is used to measure the wind velocity?

foe=t A q el A1 T IG BT Heram A= & FIT J=21ar 7 &r2m S &2

Psychrometer

ATSHIHCT

Hydrogrophs

QEEEINT

Anemometer




fAar Hiex

D

Radar

Answer Key: C

Q9 : Rain forest in India are found in which state?

AR H IuTae T T H I ST &7

M.P

T

Karnataka

FeAledh

Kerala

el

D

Goa

anar

Answer Key: C

Q10 Free living aerobic nitrogen fixing bacteria of soil is :

T T Herd gl ATSelstel [EU{ehior Shary g :

Azotobacter

A TSileldee
Rizobium

5 ESITDES
clostridium

¢ FATACISITH
All options are correct

P |t e

Answer Key: A

Q11 Insectivorous plant grow in soil which is deficient in :

AT A forg dca I Y gy T Hresredy aler erarg?

N,

N,




Ca

Ca

Mg

Mg

Water

D
ofel

Answer Key: A

Q12 Which day is celebrated as “World Environment Day” ?
"feg g igad AT AT |

5" June

5 9T
N

5™ March

5HT

5™ April

5 3%l

5" July

D

5 S[ellS

Answer Key: A

Q13 Noctilucent clouds are found in :

SATeFETe[@ec STeel ITU ST & -

Troposphere

&NHHAUS

Stratosphere

HAJIHUS T

Mesosphere

HEJHUS of

Thermosphere

D
AHTSS

Answer Key: C

014 Name of only ape species found in India:




IR H TS SATeT aTell TehATT 1T ST T ATH & -

Hoolock gibbon

gemh foreae

Lion tailed macaque

I Cog AFIh

Slender loris

SCEENCIN]

Golden langur

D .
Mese R

Answer Key: A

Q15 The term antibiosis means:

U AeE FT 3T E

Inhibition of one organism by another through production of harmful substances.

gIfeien e UeTe & ScuTee & AILTH § Ueh Sfid & @R gAY sita a1 forder

Production of antibiosis

TSI AT T 3c9TesT

Production of antigens

TeeToleT &l 3cTTeaT

Production of antibodies

D A
TEIdI8T &l 3cTTeaT

Answer Key: A

Q16 Kyto protocol is related to:

FACT Ieiiel Haid & :
Wetland
A - 94@
0.D.S (Ozone Depleting Substance)
B | siroter w1 s
Green house gases
© ater QEREIR)
D |Ionizing radiations




3T fafeor

Answer Key: C

Q17 Acidity of normal rain water is due to:

FYTSTST T 3FNIAT [T & FROUTEIAT &

SO,

SO,

CO,

CO,

NO,

NO,

NH;
D

NH;

Answer Key: B

Q18 A relationship between organism of the same species is called:

THATT ST & Sl & ALY GFade hgalldl g

Interspecies
A
e
Intraspecies
b Hecriatreir
Intraspecific
© | srrererataree
Biotic
P s

Answer Key: B

Q19 The study of the ecology of single species is called:
Tehel ST GRTEATAHT & HETTA Y FgT SATAT R -

Animal ecology

A
Steq TR fEafaehT
Synecology

B

Aot

C | Autoecology




PR

Community ecology

P rogeias e

Answer Key: C

Q20 Temperature changes in the environment affect most of animals which are:

aTCATEROT 7 TTIHTT GRecleT T HallTereh T hled & STe] TWEIATE :

Poikilotherms
A AT ST
Homotherms
5 THATI 57
mammals
C
AT
Birds
P gaft gar

Answer Key: A

Q21 Ifapopulation has more individuals of the post reproductive age, it shows that:

I, el STeTeean # votetel feided 3 & safaradl i TEdm 3R ¢ dl T6 Y& fid T s :

Birth rate is more

SeAeT s g

Death rate is more

eI AR g

Birth rate is reduced

FeHI FHB AT &

None of these

ol ——

Answer Key: C

Q22 Warm oxygen rich upper layer of water in lake is:

STt 3 R 19T 3ot TR WA & -

Thermocline

[SIERSCEUIR LY




Epilimnion

FfraT

Hypolimnion

KIRIRary

Mesolimnion

D
HET. O

Answer Key: B

Q23 The largest reservoir of sulphur in the biosphere is the:

ST AVSH FT JaH F3T o HUSR &

Atmosphere

Organism

Sig

Rocks

Da@?‘r

Answer Key: D

Q24 Which week is celebrated as “Wild Life Week” ?

T TT TdTg I Sid Iodig & &I H HATIT SATAT & 2

June 1to 7

ST 019 07

October 1 to 7

3R 01 9 07

November 8 to 14

AGFR 08 T 14

August 8 to 14

D
IFET 08 14

Answer Key: B

(25 Phosphate cycle is unusual that it is entirely:




BIEhe wIsh TafRrse § #Fifeh Ig qoia:

With in aquatic system

S AT HEIATE

Sedimentary

3T &

With in terrestrial ecosystem

YA AT H I

Gaseous

Damaﬁ'zr%

Answer Key: B

Q26 Marsh gas is:
AT R

CO,

CO,

CH,4

CH,4

C,Hg

C,Hg

CcO
D

CcO

Answer Key: B

Q27 Mangrove vegetation is found in:

Hallg (IR TR AT E

Kullu valley

Foof TTer

S Pl

Western ghat

CIECEIR3Ial

Deharadun valley

BTG arér

Sundarban

HealdeT

S




Answer Key: D

Q28 Prairies and steppes are part of:

Tropical grassland

ISUTRAISHT 91 & AT

Temperature grassland

efrarsuT 919 & HereT

Steppes grassland

T a1g F AT

Tropical savana

Dwm»—aa'iﬂzrm

Answer Key: B

Q29 In India, coniferous forest are found in:

HRA A APURT o T S -

M.P

AU

Satpura hills

HIST & TETS

Himalayan region

AT &7

Rajasthan

D
T EUTeT

Answer Key: C

Q30 Which of the following categories of organisms can convert ammonia into amino acid?

oo 3 & a7 a1 Sfiat o1 Feqg Ao 1 3T e A aRafda s aswarg

Producers
A

3c4lceh

Primary consumers
B

grafAe 39MeFar

C |Primary detrivores




TATHS 98

Scavanger

ol j—

Answer Key: A

Q31 Which pollutant causes leaf curling?
o951 & @ hleT &1 Tqweh TlceTdl & YIRTeIYT & fod SccieriT g :

SO,

SO,

CcO

CcO

H,S

H,S

0O,
D

0O;

Answer Key: A

Q32 Major source of methane in India is:

HRA H e FT AT T -

Rice field

Tl & W

Sugar cane field

IeeAT & W

Wheat filed

R

Fruit orchards

D | et & ety

Answer Key: A

Q33 Pollutant of Jet plane:
S Telel & YU § -

CcO

CcO

B |SO;




SO,

NO,

NO,

D

Fluorocarbon

FelRIehTasT

Answer Key: D

Q34 Mosses are indicator of:

A PIDE :

Air pollution

T ST

Water pollution

Sfet HeJoT

Soil pollution

RN

D

Radiation pollution

fafeRoT yegmor

Answer Key: A

Q35 NEERI s situated at:

¥ (NEER]) feaa ¥ :

Bhopal

gt

New Delhi

S feweh

Nagpur

GICILRY

S

D

Bengaluru

Srerw

S

Answer Key: C

Q36 Photochemical smoke always contains:

SIhTRI AT oleh 48T & G 91T ST @ -




Aluminium ions

A
TG AT 3T
CO
B
CO
Phosphorous
C v
BIEHIH
Ozone
D
3T

Answer Key: D

Q37 Formation of ozone hole is maximum over:

3 &g 1 fAATor Faifaew g

India

AT H

Europe

R

Antartica

HecThfea I

D

Africa

IPTRT H

Answer Key: C

Q38 Which gas was released in Bhopal gas tragedy?

siaTer A7 TS A foha 3 1 Rara g3m
Ethylene
A
sumsfasT
Methyl isocynide
B
HaTse 3MSar ABAEs
Mustard gas
C
AEE I
Potassium isothiocynide
D

qre i AT A AS

Answer Key: B




Q39 Acid rain is due to:
3TFCIIT TN T HROTE

Sulphur dioxide

HETIETS FATSS

Carbon monoxide

FleeT HT 3HTFASS

Pestcide pollutuion

STEATRIR ST FEHOT

Dust particles

D
&el & hUT

Answer Key: A

Q40 Eutrophicapion causes reduction in:

I TheneleT o HROT fela=t 7 HAT gIel & -

Dissolved oxygen

ECIGKICRISG

Dissolved hydrogen

ICEIGESSE]

Dissolved salt

IECIGEGEN

All options are correct

Dmﬂaﬂmﬁ

Answer Key: A

Q41 The main indicator of SO, pollution are:
SO, TGNUT & HET Fah ¢ :

Lichens

AT

Ferns

ol

Algae

arer




Bryophytes

Danmmsw

Answer Key: A

Q42 Which of the following chemical causes bone cancer and degeneration of tissue?

i # & it AT THIA 33T & ha IR 3cdehl & Tdel & o e 8?2

Todine 131
A

3T 131

Calcium 40
B

HierTH 40

Iodine 127
C

3T 127

Strontium 90
D

TIfAIH 90

Answer Key: D

Q43 Chernobyl disaster was caused by:
TRUTI TSl GHET & HRUTE :

Nuclear weapon accident

AT QET GEIET

Nuclear waste disposal leak

AR 319fArSe

Nuclear reactor accident

Nuclear test

DH@@HW&W

Answer Key: C

Q44 The term nuclear winter is associated with:

FAIR Tdwe Aeg FFefotia g :

Nuclear war

AR Jeg

B [Nuclear disarmament




ATTARRT - ar=aor

Nuclear weapon testing

AR ereTgdreTor

Aftermath of nuclear holocaust

D

qwulqmra:aﬁ

Answer Key: D

Q45 Carbon intensity means:

FIeeT SeeATaCT T 37T

CO, emission per GDP
A CO, 3cHTeT 9T Hehel B 3cUTG
CO, emission per meter square
B CO, 3T 9fd gAY
CO, emission per person
¢ CO, 3c8atet ufd safad
CO, emission
b CO, 38Tl

Answer Key: A

Q46 The dodo was extinct due to:

3Y=T & fareqectY oAt ot 27 -

Pollution

AT

Invention of non native species

el sttt s 3msATT

Overexploitation of resources

AT &7 IS glged

Global environmental changes

D' s qeffator aadar

Answer Key: B

Q47 First national park of India is:
IRl ol JUH TSET 3¢+ § -




Kanha national park

A Fleel TSI 36T
Periyar national park
B | et o ECRIL]
Corbett national park
¢ ST AERT 3T
Bandipur national park
P AT LI e

Answer Key: C

Q48 Lion tailed macaque is found in:

ATITE OIS FehTeh IIIT AT & -

Western ghat

i g1e

Eastern ghat

qdf are

Sundarban

HealdeT

S

D

Kullu valley

Fod] 11T

S

Answer Key: A

Q49 Red data book is famous for:

Y3 s1eT g fonw fow ufAeg &

Extinct animals

[ECASKCIE]

Endangered animals

TeheTesT Siid

Endangered animals and plants

D

Important wild life

HAgcaqUl T ot

Answer Key: C




Q50 Non ionizing radiations are:

IR 3mafaes R

UV-rays

g fa. feeor

X-rays

Trg-feheor

V-rays

AT TRIOT

B-rays

D
Srer-feRsor

Answer Key: A

Q51 A keystone species is one of that:

T T STfAATE

Preys heavily on a particular species

S U AW yhr Fr Shfarat &1 PR Hr g

Is specially vulnerable to extinction

Y ST St rgRieTd &

Is restricted to small geographical area

BIe Alafos gy ae AT E

Strongly influences the structure and functioning of its ecological community

b o SiTfera St fanedy aTREufores Taer & eoar & genfad Al &

Answer Key: D

Q52 Biodiversity hot spots are recognized on the basis of:

Sig fafaerar & 31Ty T & heg fadT TR 9 gAY STA @ ¢

Their proximity to national park and reservoir
A TSE 36T & ToIT 3eAehr folamedr

The number of endemic species contained
B fAfea vurfaes senfaat r g

The degree to which included species are threatened with extinction
S R e, T s e e




(The number of endemic species contained
) and (The degree to which included species are threatened with extinction) both

D'\ ffea wonferes sonfarit i e 3tk (@ sferat v aRor, et o R i awe
) gt

Answer Key: D

Q53 Gause’s principle is related to:

IMFH T FAEgId TFafed g :

Neutralism

dcEIdrdig (rq,\aﬂiaaﬂ)

Mutualism

RG]

Commensalism

FgAIfoar

Competition

Dqﬁwﬂ‘r

Answer Key: D

Q54 Simpson’s diversity index is:

FFaaea fafaerar gais & :

e

D= Exnr"lr;\n"j

-

D =3("/y)

NiN=1)

Tnin—-1)
NEA=1)

=

D=(1-d)

D=(1-d)

D=(1-d)N

D
D=(1-d)/N

Answer Key: A

Q55 One population is inhibited but other is not affected:

Teh ST S afere faee gady smfaa g g & -

A | Parasitism




LEIEGI

Symbiosis

RG]

Commensalism

T

Competition

Dqﬁwﬂ‘r

Answer Key: C

Q56 The presence of all of the following tend to increase species diversity except:

o 7 & gaft Fir sufeafa snfaa gsica #1 serdl §, 38 s

Competitive exclusion
A ettt
Keystone predator
B | rvorr oy
Patchy environment
¢ fafarer qataror
Moderate disturbance
b HEIH &1eaT

Answer Key: A

Q57 “Minamata disease” is produced due to pollution of:

"HIATATET" AT foldT JGueh o HRUTEIAT & :

Crude oil

Foar oo

Silver nitrate

et ATI¢s

Phosphorus

BIEHRY

Mercuric chloride

D

AR FANTSS

Answer Key: D




Q58 The “Wild Life Protection Act” came into existence in:

awsﬁamﬁwmﬁ'aﬂqﬁ?rgaﬂ:

1970

1970

1972

1972

1974

1974

1992

D

1992

Answer Key: B

Q59 “The Forest Conservation Act” came into existence in:

aﬁimﬁwaﬁﬁuﬂqﬁﬁ‘gﬁ:

1972

1972

1980

1980

1992

1992

1975

D
1975

Answer Key: B

Q60 Ramson convention is related to:

IHTT GFRT Goafeead g

Ozone depleting substances

NS ge gerey

Green house gases

Nt 138 T

Wetland

s

Forest

D
ol

Answer Key: C




Q61 Leaf area index(LAI) measurements by scientist at study site using a hand held ceptometer is an example of:

g7S¢ o8 UCIHICT &1 SUAIT X §U Ueh LAY U T AATToteh SaRT Fecll &1 i HIY FaAT Ueh IETEI0T ¢ :

In-situ data collection

A o1 HIg ST HIFOT
Ex-situ data collection
B e ST HIAGT
Both In-situ and Ex-situ data collection
T T
None of the above
P s a s s

Answer Key: A

Q62 Which of the following remote sensing technique used to measure soil moisture content directly?

T FALY hr Ao T A1 A9 & fov fAeAfafaa & @ foha geg ddest gommelt i 3qa1eT foham ST &2

Microwave remote sensing technique

A AsshIag RAle Affar
Thermal infrared remote sensing
B | erster smsonys Roate ifeen
LIDAR remote sensing
¢ LIDAR R&Te dfder
All options are correct
R T ———

Answer Key: A

Q63 The majority of non military commercial aerial photography is collected by using:

HEIA: IR Wi 11 gaTs BIeiamthr foieT &1 3TATeT X Teha T STl & -

Double winged aircraft

Sacl 9@T dTell fadTeT
Single winged aircraft
B Tehol 94 ITell fIAT
c Multiple winged aircraft

FS g@T arelr faHATeT




D

All options are correct

SRIFT TAT

Answer Key: B

Q64 High oblique aerial photograph is obtained if the:

3= WIeT TRI BT gred Y Sirdr g, Ife

Horizon is not visible

fayfarst fewms agt &are

Horizon is visible

farfrst fewms g

In both conditions

e et

D

None of the above

SoTd § 1S e

Answer Key: B

Q65 Which of the following cameras are often used to obtain aerial photography?

HEI: TR BT e &t oh [odr el ert # & foha e o1 3u2T foha St 82

Single-lens mapping (metric) cameras

A Tehol ol ST
Multiple-lens mapping (multiple-band) cameras
B a@ﬁ? -
Digital cameras
© et
All options are correct
P | s o

Answer Key: D

Q66 Which of the following stereoscope used to view stereoscopic aerial photograph and a map at the same time?

AT TRINTHIT H J Tah &1 T H TR3NTRId TRIS BIemhT 3R JAa) & @ & o 393197 fhamr Srar g,
AR

Lens stereoscope

o T3




Mirror stereoscope
P o etena
Analog stereoscopic zoom transfer-scope
¢ TeATell9] FCRINERI I STH ST ahIEhT
Zoom stereoscope
P | sm e

Answer Key: C

Q67 Which of the following remote sensing systems collect data in digital format?

fAeAf e e Fdee Jomel 7 & et oY gomel f3fsiee Tawy & SeT vehd el &2

Multispectral remote sensing system

A - - 5
R-Y S E
Hyperspectral remote sensing system
B AN LN
FISTREUFC A FeT FdeeT YoTTell
Ultraspectral remote sensing system
C

eI eI Tt JuTel!

Both (Multispectral remote sensing system
) and (Hyperspectral remote sensing system

)

D | (SgavishIa Heg Haee gutrelr

) AR FTSIEIFE T o HAgeT FoTelt
) axAt

Answer Key: D

Q68 Arrange the following steps in correct order which involved in remote sensing process:
(D) Statement of problem
(II)Data to information collection
(IIDInformation presentation
(IV)Data collection

ferTfafed ufshat =1 aEt o A cgafeyd Y St e FdesT JollsTell H ATAT gIe g -
(1) GHETT & FaaoT

(I1) =T & 3TTehsT T HIAGOT

(1) T ST

(IV) 3TeR3T T TIGOT

LIV, 1L, T

LIV, I, T




L IL, 111, IV

I, 10, IIL, IV

LI, IV, T

LI IV, III

IV, L 1IL, I

D
IV, L 1IL 11

Answer Key: A

Q69 Which of the following potential remote sensing systems are used to obtain information about canopy structure and height of
vegetation?

ferfafea denfad geg daeet yomrel # @ shiet A gomrely &1 39Ater nfAgr e 3R aereafa & S8 & s A
SATARRY UTed ¥ & fow fomar Srar g2

Stereoscopic aerial photography

ER3ERIUT TRI BIetamhT

LIDAR remote sensing system

LIDAR &I Haee JoTrell

RADAR SAT remote sensing system

RADARSAT e Hdeat JoTTell

All options are correct

Dmﬂaﬂmﬁ

Answer Key: D

Q70 Which of the following remote sensing system collect data in thousands of bands?

fer=Tfafed geg ddest gunferat & & whist & JuTel §oIRT 35 & &9 & 377ehs Tehe il § ?

Multispectral remote sensing system

SEIUTHHIT HeT TG FOTell

Hyperspectral remote sensing system

BTRIIREAFEH &I Hdeat JuTell

Ultraspectral remote sensing system

HeERUFEH FeI HdesT JoTrell

All options are correct

Ds’qfl?crmfr

Answer Key: C




Q71 The ideal time of day to obtain aerial photography is when:
TR BICIITHT gred &e & o et 1 I §Ad 8, 51a

The sun is between 30° and 52° above the horizon
A ISt aifdeT & 3w 30° 3R 52’ e g

The sun is between 30" and 40" below the horizon
B ¥ farfasr & e 30° stk 40" F M g

The sun is between 60° and 70" above the horizon
¢ Yo fafaet & 39 60° 3 70 H A= g

The sun is between 10° and 30" below the horizon
b oot fafasr & o 10° 330’ F M= g

Answer Key: A

Q72 Which of the following stereoscope permits the entire stereoscopic model of the two overlapping aerial photographs to be
viewed?

AFATATEd T R3MERIT A @ it &1 a1 3ifeardy TRITS Breras I T R3AERIIE AT et o Tl S1eT H ST ST
g

Lens stereoscope
A s meoirerts

Mirron stereoscope
B | ator e eaireris

Analog stereoscopic zoom transfer scope
© | comeit weRatat

Digital stereoscopic zoom transfer scope
B o P U

Answer Key: B

Q73 Airborne visible and infrared imaging spectrometer (AVIRIS) acquires data in 224 bands in the region from 400-2500 nm is an
example of:

VRS JIETT TUT SIPRS SHTOTIT TUFEIHIET 400-2500nm &F F 224 35 F 31hsT T TATGOT FAT | TS 3GTEI0T

Multispectral remote sensing system

agaﬁ%tﬁtrgegﬁéa?rm

Hyperspectral remote sensing system

GRITEATFE S Fo Hdeel JoTTely

C | Ultraspectral remote sensing system




HegRUFed geI HdesT JoTrell

None of the above

D s & & g ot

Answer Key: B

Q74 Analog photogrammetry is performed using data that are in:

UATATdT BICITACT 3 3ThsT T IUART fohAT SATAT §, ST 37TehaT Sl U

A hard copy format

U gTSehidr # g

A computer and digital aerial photography

Teh el AR F3fee el wictamhr 7 gt

Both (A hard copy format
) and (A computer and digital aerial photography

)

(T GTSHIT 3 T ) 2T (Ueh e 3iR ffSiee vRae Breramdr 71 &)
) &Y

None of the above

D

S U IS Aeheld TE 78T &

Answer Key: A

Q75 Which of the following measurements that can be obtained from a single vertical aerial photograph using analog or digital
photogrammetric techniques?

TATATdT AT F3TSeeT BICIATAEIS deheileh T 3UANT X Tah HrelT TRITS Biehms & Aefaif@d ATdat & § sl 91 AT wred

TR ST FehaT &7

Object height

aEq T IS

Object length

TET T olaTg

Area of an Object or polygon

War&_gasra%awmagsga

All options are correct

Ds’qfl?crmfr

Answer Key: D




Q76 Parallax is a normal characteristic of aerial photography can be used to measure:

RTAFY (IeIeT) TG ATS PICTIATHT T Teh FTATT [FATAT &, ST 37T ATIT & T 3 3u2ver & 1S 51 Al €, T8 8

Hieght of the objects and tropographical information
A TEG3T hT ST HR TUITeRTcreh STt
length of the objects
B et o
Area of the objects
¢ TEJ3T T &TTHel
None of the above
P T faFeT T 8 |

Answer Key: A

Q77 Which of the following dominating factors controlling the leaf reflectance of plants?

eI HE HReT 7 § et AT R e Y Gfcarail 1 Rrdcet @A fEd Farg 2

Various leaf pigments in the palisade mesophyll
B ey w——

Scaterring of near-infrared energy in spongy mesophyll
b TSl S H fAehe 3raiard Fal &7 foaeder

The amount of water in the plant
© | atettar i v amr

All options are correct
b T faFeT T & |

Answer Key: D

Q78 Which of the following remote sensing system is used to measure the amount of precipitation and location of dangerous weather
0

AT Go Haeet dehfeient A § fond dehfeieh o1 3TN s & AT gTiiehRer AIHHA & TATH & AT & forw famar

SATATE ?
Ground based (terrestrial) active microwave remote sensing system
A .
& 3menRa AfshT ATShIdd oI Hdeed JuTel
Thermal infrared remote sensing system
B

ISHIY 3R eI HdeT JoTelr

C |LIDAR Remote sensing system




LIDAR eI Hdee JoTel!

D

SONAR Remote sensing system

SONAR HeT TdesT JouTTel!

Answer Key: A

Q79 Which of the following characters of soil is responsible for spectral reflectance of soil ?

frafold Far H A3t 7 & Hiet o RFATard guissT wrad & e seaReri € 2

Soil texture

FeT T

Soil moisture content

e Sy AT AT

Organic matter content

Frafaa geret greaft

D

All options are correct

s AT T |

Answer Key: D

Q80 Which of the following elements used for image interpretation ?

fF=Tfafed deal # & st AT ded BRI YEIAToT & T 3Tt foham ST & 2

Grayscale tone

3 Fahel e (YHT 1T)

Texture

§oildc

Shadow

ST

D

All options are correct

s AT T |

Answer Key: D

Q81 The first man made satellite was launched to orbit of the earth :

TE T ATTd [T 3UAG ST G i heTT 7 Faifie foma arar o :

Corona

FRIT




Apollo-1

379rel-1

Supnik-1

TYsileh-1

Explorer-1

D TFIARR-1

Answer Key: C

Q82 What is the full form of GIS?
SiL.37TS. UH. T QU ATH AT g 2

Geographical Information System

3R Rherer sewafere RTea

General Information System

ST Sehaiele faeea

General Information Sensor

eI el Sehaed &=

Global Information System

b TolTol e faTeH

Answer Key: A

Q83 At which layer of atmosphere satellite launched?
ATATEROT & Tohd Ol H T 3T i T&TT0T fohaT ST g 2

Exosphere

afgdser

Mesosphere

ALTAST

Thermosphere

GIEEER]

Either thermosphere or exosphere

D . .
ATgHSH IT SfgHse

Answer Key: D

Q84 Which of the following sensor was used in the INSAT satellite?




fFATa T Tacet # & Hid AT Tded Saic UG A 3TN fohdT 31T 2

Ocean Colour Monitor (OCM)

NI FolR AT (OCM)

Wide Field Sensor (WFES)

arss fhes WX (WFS)

Very High Resolution Radio Meter (VHRRM)

A §TS TSTol0eT LAY (VHRRM)

Linear Imaging Self Scanner-I (LIMSS-I)

D TR 3TATSIT Tt ThelX -1 (LISS-I)

Answer Key: C

Q85 What is the full form of GPS?
SO UH. & R ATH AT 2

Global Positioning System

Toliao gifarefaer Aeed

General Positioning System

STeRe QifSefaer R

Geographical Positioning System

S QifSrarfaer ReeH

General Programming System

D ST SenfAeT Aees

Answer Key: A

Q86 The satellite NOAA is equipped with :
3996 TA.3N. 0.0 GaAfSSIT & -

Advanced Very High Resolution (AVHR)

UScET=HS A 813 YSlo[lel ISAHIET (AVHRR)

Very High Resolution Radio Meter (VHRRM)

A §TS TSTopeT XTI (VHRRM)

Wide Field Sensors (WFES)

a1ss fhes TR (WFS)

D | Ocean Colour Moniter (OCM)




NI FolR AT (OCM)

Answer Key: A

Q87 The Charge-Coupled Device(CCD) is the most common mechanism for converting?

Tol F9es fEarsy (H.A@.3.) forge gRafdd it & T qed 3 dT & 2

Optical images to electrical signals

ITTCEehel SHST I Selfargen [Aaetel

Electrical signals to digital images

Soifareahol TaveTel I f3Siice 3aoT

Digital images to optical images

TESiIcel SHST i 3TTTCeahd SHT

Digital images to electrical signals

D

T3Sficer sHST &l Selfdeand fesTal

Answer Key: A

Q88 GPS originally designed for :
SA.TE. Hol &9 @ 58 & [ serar i g 2

For direction of air

arg &1 feer & ferw

Real time and navigation

qIEdTas AT g Eema & fow

Temperature of water

97T & g & dI9HT & fow

Gravitational force

P pecarantor so e

Answer Key: B

Q89 Which of the following segments are the basic segments of the GPS?
AR A & et &1 97e7 S .0H. T FHel3qd AT E 2

Spaced based segment

& O JTRITRC T

Control segment

IGEEMEIEN




User segment

3ULNITHAT HTT

D

All options are correct

i frca @ g |

Answer Key: D

Q90 Which of the following components are the basic components of GIS?

AFATATET # & et A1 Tceh 5.3, I HAd T o ?

Computer hardware and software

A | e s st e
Spatial data from the real world

B 317l g T TUTiareh SeT
Trained personnel

© | srefare st
All options are correct

P T fAFeT T & |

Answer Key: D

Q91 Absolute humidity in air :

ag o qﬁ'?ﬁﬂ ST
Remain constant at all altitudes
B T,
Increases at higher altitudes
B TS F T T &
Decreases at higher altitudes
R P —
None of these
D

T A IS TG

Answer Key: C

Q92 Infiltration capacity of soil depends upon:

e 1 R &vear e e 8

A

Compaction of soil particles




T & Il & Helofel

Arrangement of soil particles

FeT & Il T cgaedr

Shape and size of soil particles

&I & UM & 3R  AThic

D

All options are correct

i AT adr g |

Answer Key: D

Q93 Pick the correct equation from the following:

fAFfaf@d & & Tg) Teenor 1 gera ffSe

Run off = surface run off + ground water flow

A HYUATE=HcIg HIATg + STHIel 9arg

Run off = surface run off - ground water flow
B HUATE=Hdg AYATE - STHN 9dTg

Run off = surface run off = ground water flow
¢ HUATE=Hdg HYaTg ~ FTHAT UaTg

Run off = surface run off x ground water flow
D

I9aTg=8dg 379d1g x AHT 39dT8

Answer Key: A

Q94 Unit hydrograph theory was given by :

W.W. Horer

Sse. Sscy. E'R?h

Robert E. Horten

IeC S FRSA

Le-Roy K. Shermen

N-TI-FH-H T

D

Merril Bernard

ART §Ts

Answer Key: C




Q95 The surface run off is the quantity of water:
HAg 394Tg STcf T dg AT & 9T

Absorbed by soil

HCT SaRT 3N &1 STl §

Intercepted by buildings and vegetative cover

ARG 3R gereafae Mavor ganrT gHTad gl &

Required to fill surface depressions

HAE & IS T I & ToIT IETF &

That reaches the stream channels

D

ST &IRT & ATl F-Wtigqoi & T 3maTs §

Answer Key: D

Q96 Precipitation caused by lifting of an air mass due to pressure difference is called:

ST S AGHR & 30 35+ W, &1 # 37 3 HROT I &, Feelle ¢ -

Convective precipitation
A S

Orographic precipitation
B | strremr st

Cyclonic precipitation
¢ Tshdcell asT

None of these
P emamsag

Answer Key: C

Q97 The theory of infiltration capacity was give by :
SeTfthoc el ShiudIeY T faeerd fear

Merrill Bernard

ART T8

W.W. Horner

EES E'R?h

Le-Roy K. Shermen

N-TT-H-T

D |Robert E . Horten




JeC 5. gReA

Answer Key: D

Q98 The Coriolis effect is related to
HITSNTr T gHTT Fafea g :

Earth’s rotation

gz & guieT &

The process of cooling of ascending air

3RS gar3ft i Mot ufrar &

Infiltration and percolation in the unsaturated zone

3T &1 & FeAfthee el 3R Tehlolee &

The existing hydrostatic pressure at water table

el P

Answer Key: A

Q99 The aerodynamic resistance determine the rate of :

AIGITTAehI TTeRIEr aTfe T fAUROT sl & -

transpiration

CI IR

drainage

Solfaerg

discharge

ESIG]

Evaporation

D
grsdiehoT

Answer Key: A

Q100 The Roynold’s number is a relevant number which denote:

Open water evaporation

ol 7ol T arsdienoT

Transpiration through plant stomata

qie} & gfcdal garT arsaraste




Percolation of the ground water

AT STl & 37eT: FFa0T

D

Discharge through open channels

Gell STeT faT Z@RT Stel &7 Rara

Answer Key: D

Q101 Material deposited by flowing water is called:

JATEHIeT STel GaRT HIATRd IG1Y FEellal ¢ :

Alluvium
A
STclige
Alluvival fans
B
STeile thel
Albedo
C
QWHT
None of these
D

T A IS e

Answer Key: A

Q102 The most commonly used method for desalination or desalting of water is :

3TerquiiaioT T Fa 31T YIT & 1S ST arell [AfT &

Distillation

A
Edd
electrodialysis
B
ERE AR IEL:IE
Flash evaporation
C
&reg arsdiehoT
Reverse osmosis
D
T RERoT

Answer Key: D

Q103 lodometric titration is used in estimation of :

ITATSTAENR HTHTT T ST 1o o TeRoT & forv foham S g -

A

Total hardness




HYUT HORCT

Dissolved oxygen

it JiTereoter

COD

€r.arn 3.

chloride

Daﬂms-s:

Answer Key: B

Q104 latent vaporization of water is :
STel ST I 3SATE -

540 K. cal

540 for. ey

540 cal

540 HARY

540 K. cal. Per gram

540 for. FHA/amT

5.40 cal. Per gram

D
5.40 Fei/ame

Answer Key: B

Q105 Permanent harness of water is due to:

ot T TARN FORAT F HRUTE :

Magnesium bicarbonate

HiAfRgs a8 Frefac

Calcium bicarbonate

FHToRIH 918 FrEfeie

Calcium sulphate

FioraH Tothe

Calcium hydroxide

b Fiod gIgeass

Answer Key: C




Q106 The thin film of water is held by soil particles under the influence of internal attractive force, it is called:

STeT Y Iell e ITARA 3MhYUT Fot T T3 # ALY & ol garT NS H Il €, T8 Fgornar &

Capillary water

FHiReT STt

Combined water

QTWQ STl

Hydroscopic water

JTGATITEY STl

Gravitational water

D

&I STl

Answer Key: C

Q107 Equilibrium constant of water is:

STl T @Y e+ §

1.8 x 10" M?

1.8 x 10" M?

1.0x 107" M?

1.0x 107 M?

1.8x 107" M?

1.8x 107" M?

1.0x 10" M?

D

1.0x 10" M?

Answer Key: D

Q108 In liquid state water molecule make :
AT STl AT H STel T Teh 0] TATAT ¢ -

1.5 hydrogen bonds

1.5 gHISISIA a9

2 hydrogen bonds

2 BTG 99

3 hydrogen bonds

3 gTISIoTeT 84

D |3.5 hydrogen bonds




3.5 gTISIoleT 84

Answer Key: C

Q1090.1 M solution has a water potential of :

0.1M STl & "TeX GreTe=rder gIam:

-2.3 bars

-23dR

0 bars

09

22.4 bars

22449

D

2.3 bars

2349

Answer Key: A

Q110 Nearly .......... Of global fresh water is frozen in ice caps:

T ... IRgF AT AT T FTT AR :

90%

90%

68.7%

68.7%

78.7%

78.7%

D

95%

95%

Answer Key: C

Q111 The Vadose zone occurs:

CEj (Vadose) ST EITg

Near streams in arid to semi-arid regions

YRI3AT & fo¥ehe ST [oeh &7 A 3TeTe[eeh &7 ofeh §

Next to cropland where fallow is practiced

el o fo¥ehe STgT sor {8 ol SilaT SiTeT g

Above approximately 2500m elevation




TSI 2500 HieX FI FATS & FI

Between the water table and soil surface

b STol T TUT $fH T & o

Answer Key: D

Q112 Preferential or bypass water flow usually occurs :

TSR TUT 3UAR STl AT SgdT g :

In earthworm channels, cracks or other macropores
A st o5 e, et s 2 R ot

In confined aquifers
B o sroremer et

In the microspores of fine textured soil
¢ 8Yeh deTTae 1 Hel & g&# Bl &

During light rainfall that continues for several hours
P [ eetrast o ok ot a8 s om0 2

Answer Key: A

Q113 Artificial drainage by ditch or buried pipe:
ATl AT 3T ITST o SanT HTAA feprel gIeh & -

Removes excess water but has no effect on the water table
A AR Sl hr TehTaT fohee] STorecR IR Shig THTd T8l ISl
Lowers the water table by speeding the flow of water out of the soil profile
B T T T o ST6 STof o cliel TaTg GaRT STel TX ol e glell
Rises the water table by speeding the movement of water through the soil to water table
C
T A STeER e 7ol o I JaTg SaRT STelEcX &l 86 Silel]
All options are correct
P T faFeT T 8 |

Answer Key: B

Q114 Epiaquic soil conditions may be caused by the presence of :

gUITerdiIeh HeT caaedT 1 HhRUTE :

A subsoil layers of sand and gravel

¥ 3R T 1 3raegfa I




An impermeable clay layer
5 e 39T HeT & R

A fragipan layer
© st oz

All options are correct
P Tl TaheT TET & |

Answer Key: D

Q115 Which they of irrigation system usually achieves to greatest * field water efficiency” ?

&I STl shr el A giee; fond TS ceheiieh e &t Sirell & 2

Micro or drip irrigation

qeH AT g TS

Level basin irrigation

TR STorghvs THwrs

Furrow irrigation

s Rt

None of these

ol E——

Answer Key: A

Q116 The hydrologic cycle is primarily driven by :

STellersh 7&d &9 & afdd ¢ -

Action of plant roots
A [arest v ret 8 e g
Infiltration of water into the soil
B HeT # 7ol & & gart
Solar energy
¢ R ST gant
All options are correct
P T faFeT T 8 |

Answer Key: C

(117 Water loss by transpiration can be generally assumed to have come from :




AT otel GaRT AT T HHAT FHTI: TGOT HI AT & -

Soil around the plant roots
T S —
Surface run off
B Hdg 3T94arg eanrr
Soil surface exposed to sunlight
© e ar g s
The local ground water
b TUTAY &1-5TeT GaRT

Answer Key: A

Q118 Which principle best described the movement of water into perforated drainage pipe:

Pl @r Aeerd gaw 31 Bfga stor et agy & g $Hr afafafer Fravia a=xarg 2

Capillary rise
A loRrares
Water flow from a negative matric potential in the soil to a zero matric potential into the pipe
B sy ot spomeses a1 e rererer 1 976 o e AR RS 7 o 1 T
The combination of cohesive and adhesive forces
¢ FHIT 3 3HTHST Fell ol TSl
None of these
P |emrams

Answer Key: B

Q119 Which of the following inetroligical phenomenon is responsible for fluctuation in the ground water level :

fArfarEd Agralifoterel T3 & & HloTHY 8-5Tel FAL & 3AN-TGE & [T Sccar g 2

Atmospheric pressure

A
S

Rainfall
B

asT

Wind
C

gar
D | All options are correct




i AT @ g |

Answer Key: D

Q120 Which of the following classes of soil moisture regime based on the length of the period that the soil was saturated?

feefaf@a & & wla o Her i 7 cgawyr 39 3raftr o 3R e &, STa Har e o 2

Udic soil moisture regime

A g3reh el I A cTaET
Aridic soil moisture regime

B QS FeT & T cFaTAT
Aquic soil moisture regime

R T ——
Xeric soil moisture regime

P AEELCT FeT i T cgaer

Answer Key: C

Q121 Which of the following causes the least pollution when burnt ?

fArafafld 31 & st a1 SToret & Teard Gad HH JeuoT helldr g ?

Petrol

* oo
Diesel

B STl
Coal

¢ el
Natural gas

P oo ot

Answer Key: D

Q122 The main constituent of CNG is :
W TS, HT T Teh § ?

Methane
A oo

Butane
|




Ethane

S

Propane

Dl e

Answer Key: A

Q123 A solar cell is made up of :
TR el TATGIAT S -

Silicon

fafeisr

Titanium

(GG RE)

magnesium

D

Answer Key: A

Q124 Maximum temperature that can be attained in a box type solar cooker is:

Teh 9ET & 3TehR aTel TR Fhehd A JHTRehcld ATTHTT YT TehdT ST Hebell § 2

200°C

200°C

140°C

140°C

80°C

80°C

250°C

D

250°C

Answer Key: B

Q125 Which of the following is not combustible?
5T & T it AT CgAMNT G & 2

0O,

0O,




D

Methane

[ERCH

Answer Key: A

Q126 The source of energy of the sun is :

S CEIEE EIRS DTS

Nuclear fission

ATy faEs

Chemical reaction

Tarafae far

Nuclear fusion

AT GoTTeT

D

Photoelectric effect

LI ECIERC R

Answer Key: A

Q127 Solar constant is :

140 Wm™

140 Wm™

1.4 Wm?

1.4 Wm™

14K Wm™

1.4 K Wm™

D

1.4 M Wm™

1.4M Wm™

Answer Key: C

Q128 Tehri dam was projected on :

g Yy gEaTfad o I




Ganga river
A [
Bhagirathi river
B | smforcetr vy
Narmada river
© [t
Krishna river
D
ST AT

Answer Key: B

Q129 Which one of the following is most suitable plant for reclamation of alkaline soil?

fAeAfafed & @ laar veh a7 FeT & forw Fad 3uged durg 2

Eucalyptus
A
Pipal
B
droer
Coconut
C
AR
Kiker
D
TohehT

Answer Key: C

Q130 “ world water day” is celebrated on :
[EACICCACCRECIRIICIESE

16" September

16 RdsR

22" march

22 AT

2" February

02 Tar

14" J anuary

D

14 ST

Answer Key: A




Q131 Alamatti dam was projected on :

3TTATT ST &A1 fohaT 7T

Krishna river

o

Bhagirathi river

sTfaRed a7ey

Betwa river

Sadr SAar

Kosi river

P e wa

Answer Key: A

Q132 Solar photovoltaic cell converts solar energy directly into :

TIoR Bledifecsd O R Fa1T ol W TAART FATE

Mechanism energy
A ot
Electricity
B
fratelr
Heat energy
¢ 3HI Fal
Transportation
R

Answer Key: B

Q133 Pyranometer is an instrument used for measuring the:

IRRATHEY 7T & A9 & foT T IreraT &

Temperature of the solar photovoltaic cell
A Ao Bieiaifecs Aol & dTaHTeT

Solar irradiance of solar photovoltaic cell
B | e wrerateess wer s @t Ao

wind speed of solar photovoltaic cell
e e dw @ )




Efficiency of photovoltaic cell

S N

Answer Key: B

Q134 Solar energy can not be stored in which of the following medium :

R Foit o) T AreTAT & @ frg AreaA 7 gafea 78 fam s gsarn?

Water
A

STel

Iron
B

3TATA

Silicon
C v

IGRIEAGH

Wood
D

EoLs]

Answer Key: D

Q135 Solar radiation that is received after it changes its direction due to reflection and scattering in the atmosphere is called energy

FTATAROT H WRTdcleT Ud YehIuTe o TN Ao iR TATehI0T ohl Shgl ST §

Diffused radiation
A | e R
Scattered radiation
B gehIfore fafeor
Beam radiation
¢ s fafentor
radiation
P | fafemor

Answer Key: A

Q136 What kind of energy does a wind turbine use :
Ueh UdsT TeFeh fohdl g T SotT T 3UTTIT Pl & 2

Kinetic energy

aIfdst Fat

B | Potential energy




feufast Fa

Chemical energy

T Fall

D

Thermal energy

3SHRT FaT

Answer Key: A

Q137 Which of the following state in India ranks first in the installation of wind power ?

IR H Fafaf@a T & @ HaTar 9aed F7 1 TATIAT & Ugel TATT 9T g ?

Gujarat
A

f)

Andhra Pradesh
B ]

3TTeVEer

Maharashtra
C

HeRTS

Tamilnadu
D

RIEGGIE

S

Answer Key: D

Q138 A pyrhelio meter is an instrument that measures :

IRRIg for31 HieT &1 39ATeT [ & A9 & forv fFar srar g

Kinetic energy

it Fatt

Diffuse solar radiation

wrada @ik fafeor

Beam solar radiation

& gt faferor

D

Thermal energy

3SHT Far

Answer Key: C

Q139 Power output from wind energy electric generator is directly proportional to :

el Sl Selfergeh Sfeiiex U TasTell &l Sculest e 3He]dTfcieh & :




Wind velocity

Udel & dIT &

Square of Wind velocity

Udel 39T ah gl &h

Cube of Wind velocity

Udol AT & Gl

D

Square root of Wind velocity

qael & 397 & FANHA &

Answer Key: C

Q140 Wind blows because of difference in :

fohE 3o & SHROT AT Tgcl & 2
Temperature
A
GISEIGH
Latitude
B .
3T&TTRo
Longitude
C
SRR
Height
D

ERIS

Answer Key: A

Q141 An anemometer is an instrument used for measurement of :

ufaaHeT 1 99T [AFT & A9 & fore fhar Srarg:

Solar radiation

gt fRAfetor

Wind speed

gar &1 digdr

Temperature gradient

RIEEIGRECEGI

D

Depth in ocean

HAG AT TS

Answer Key: B




Q142 The main disadvantage of wind power is that :
qael Sl oh UGl H GHE ST T & T -

It is available only in coastal areas

Ig T &1 7 3T g

Wind energy systems are noisy when in operation

qael Foll U & HaTelel # €afel yguoT

Large land area is required

S 3 &3 Y JHTaRIhdT

The capacity utilization is less

b YT &THAT FHA &

Answer Key: D

Q143 Gasification of biomass is a:

g ST T AR OT | -

Biochemical conversion process

A |t s wteRor 9
Chemical conversion process

B AT foleh ®ATALOT T Tishar
Thermochemical conversion process

© | e srarafores weror -
Biological conversion process

P | e weror v st

Answer Key: B

Q144 Which of the following fuel does not give ash as residue when burnt ?
ArfafEa Sual & O Sl T1 319U & T H TH 7T &1 ?

Wood

A
EALTe)
Charcoal

B
FISS Il
Biogas

C
EIRIEIs]




D

Coal

I

Answer Key: C

Q145 The ocean thermal energy conversion system that is meant to generate power is most suitable in:

HETAIRIY SSHIY Srsil FUICROT JUTTC T 3G fdegdl ScdieeT & ToIT fehdm STidm 8, St 3uger & -

Subtropical region

3ursuThfeatiT & &

Tropical region

ISUThiCaHT &1

Cold region

CEESEIR]

D

Moderate climate region

HEH Sierarg &7 A

Answer Key: B

Q146 The tidal waves are caused by periodic rise and fall of ocean. It is associated with the position of :

SN ofgd TG H 3MTad gite 1 aRomeA § | St defad g :

Moon

TgAT

Sun

¥

o

Earth

gedr
C

D

Sea

dJHg

S

Answer Key: A

Q147 Which of the following is not an application of hydrogen energy ?

=T 7 T PITAT TSI il T 3TJIT 81 g 2

Fuel cell

SUeT A

Generator set




STeleX AT

Running a two wheeler

aY ufgat ams &1 aR=merT

D

Producing biofuel

G ST T 39T

Answer Key: D

Q148 Hydrogen can be generated commercially by :

ETS3Iole cATTHTTIH ®F & 3ceoT I ST Hhcll & :

Aerobic digestion

aqsﬁa’rma?r

Steam methane reforming

FEH AT Repifear

Anaerobic digestion

yaqsﬁa“rma?r

D

Incineration

aTsHTRIOT

Answer Key: B

Q149 Fuel reforming is a process of :

Transforming fossil fuel into CO
A SaTeH $U Sl CO H Tl
Transforming fossil fuel into H,
B SaTRA ST FI H, H Seofell
Removing carbon compounds from fossil fuel
© | rafors aareif ¥ frest e g e
None of these
D

T A IS e

Answer Key: B

Q150 Hydrogen can be stored as a:

ETS3ISTeT T Fafed foham ST ThaT &




Compressed gas

Fhfeaa s s a

Liquid

RATTH

Metal hydride

T ¥ S H T A

All options are correct

b sl ArecT T |

Answer Key: A




